General Chem. 101 |
First Exam \
Pate: 3/7/2012
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N = ﬁﬂlzlxlﬂ Atomic masses: H = 1.00 .H = ]4.“ {} ]ﬁ.ﬂ

C=120.F=19.00, Fc=5585.B=1081, Mn= 54.‘}4 ,Cl= 3545,

Ag = ill?.‘i LCa - 40,08
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Perform the tollosw img arithinetic and give the answer rounded to the
correct nuinber ul'nlpnll'lk:iml Higures.,
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D.00016 x 53.25 + 1.002

a) 1.010 (H:)!_IHI ¢) 1.0 dy 1.01010 ) 1.010]

A cylindrical 1tank containing a liquid of a mass of 2500 gram, the
height of the tank is 15.00 :n, the area of its base 1s 12,0007, Calculate
the density of the bguid in ST Units Kg m 2 (V.. e = area of the base
x height), (1 in = 2.54 ¢m by definition)

a) 0.546  b) 13.53 c) 5468  d)847.6 ¢ 5.40x107
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The melting point of mercury (Hg) is equal to -38.83 "F, it boils at
674,11 "F, what is its boiling point in "C. ['C = 59 ("F -32)]

zlLﬁﬁr"x,? h) 1345.3 c) 1245.3 d) 256.7 e) 0.546

The reaction: 2 KCIO:—+ 2 KCl + 3 O» 1s an example of

a) Double exchange reaction.  b) Red-ox metal replacement reaction.
d) Red-ox combination reaction, d} Red-ox decomposition reaction.

¢) Red-ox combustion reaction.

The correct name ol CLO5 is

a) Chlorine (V1) oxide. b),Dichlorideheptoxide.
¢) Chlorine pentoxide. éﬂichlﬂrine heptoxide
e) Chlorine heptoxide
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The chemical form b of wond ) sultate o

a) Fe S0, b kel c)ledSt) )
d) Fesdl), L} Feal S0y )

A new compound contains nitrogen hyd-ogen, boron & fluorine. The
assay velues are: N 1L306%. H AR50 B 10.310%,. Determine
its empirical formela.

EILNH.:HI'. b) Mit3l,  ©) NH It ) NHAB ¢) NaHBLF
NooH R

0.95 380 017
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atoms, How many moles ol hydropen “atoms (H] are there in the
sample?

a) 0.2543 moles by 0.9324 mol.s ¢)0.962 moles
ﬂ} 0.8547 moles ¢) 10,26 moles

In a quantitative analysis. 4.624 grams of a hydrocarbon (which
contains C & Fonly) yizlded 13.84 ¢ of CO, and 7.556 g of H.O upon
burning in excess O The empirical formula of the hydrocayrbon is

d) Cyl T b) C:ll, ¢) CH, 'LL{_I I, e) (1; 14

When BaCly,,,, reacted with Na:PO,,., g Natl,, and Ba:(POy)y.. are
tormed. How many moles of Ba(PQ,), are formed for each mole ¢ *
BaCl, consumed?

a) 1.0 b) 0.50 ¢) 3.0 d), 0.33 e) 2.33

2 8qCly <ONag POy —EN- (] + Bn;ipo:f) N
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(L. PlgMM - 41109 ¢ mol™") and water (MM = 18.015 g mol ) ruaufluld.
1o form H:PO: (MM = 81,99 g mol ™) and HI (MM = 127.9] ¢ mol™ ) if
0.5000 moles of phosphorus triodide and 2.500 moles ol water are

ased. what 1s the theoretical vield of hydrogen iodide:

PL: '+~ 3 H:O = H.PO, + 3 HI AT
:3-5N| d. 5mpl W"?{mémmaj

A vl 0g b)) IR ) 38ET d) 6396 ¢ ¢) 2054 ¢
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12. Which of the following compounds 1s soluble in water.

a) BaSO, by PhCl ¢) CoCO:  d) NOH), ¢) kPO

' - * o ol "- n’
13. In which of the following does nitrogen have an oxidation state of -3’
a)NH, I b) NaNO:  ¢) HNO: ) NO; ¢) NO
-l N the + 3=
ol =10 P +ox+ (2)-e)sd f::. .3_.{‘

14. Which of the following is a strong acid?

a) CH:.COOH  b) HCIO ¢) HF d) KOH U},]'ECI{JJ

15, A 68.8 o sample of StCly (MM = 158.5) is dissolved in 112.5 mL of
solution. Caleulate the molarity of this solution.

a)96.9 M b)230M ¢) 134 M d; 386 M e)2.54M
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16. When balancing the following equation in acidic medium.

k| r_ Y, - A3 l"
Cr).~ + F:D.f = Lr° o+ {D}
I #

Then the coetlicient of Cr™* 15

a) 3 b) 6 ¢) 14 d) | e) 2
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